435230&)3&115#95'@1@&?@%

%
*
k
e = % 1= # 5g | ekTaEnE G "
(FethE) BRI AT AT EFiAA) =
e 6,800 3 [2&¥=5321H
. MIEH | 65107 6,700 F 57 e 2mmn
5 N , A |#En—4)— NO—TROF28INE
107wy | [EHERFL | 5930 A 5560 (] | R o® I SYEE e
6,000 M
6,000 H :
\ T iE 5’500 Fq
T, BT 9,630 F 5500 | 2B 20t B 700FmE
(107 —LH7=Y) (i%%ﬁ?ﬁf@ 5240 [ 5,200 Fﬂ;%immﬂ:&l:é:b)ﬁﬁﬁﬂ%;
' 5,700 M
. ] iE 6’000 Fq
Mkt F A 5 6,060 6600 [ |12 HeMmia500m
vy . 300 [ _| EoR R LYEE e
(107—J/L¥=Y) (ii@_%{}ﬁi‘m 5,530 Fq 2288 Fg =R B =1
y 50 [ 28 E%—----m%r:u
Bl & fF 2 50 M ﬂm%tu
. . —HBIF 8,500 A |
(1/0\74‘/Z;D I35 8,000 M %88 F‘g 1j’éu4j<%czﬁ%%;i;ﬁ@4ﬁfﬂf:;mmu:sf:(xu
—) Az - = . ’ Lt:E s A
Y 19,600 A |mgruethoknicLy@mame
S BIES | 18140 FI |15 000 1 [ hmsat Cohe s, fhtiel
Q0712579 oy | 15,410 [ |-l 0,000 BN TIO7— 27203000585
, 16,000 Fq EH R 4 BECSCTEEME
N RZE— (107 — b 24 7=4) 7.330 ;ggg E B ———
ok — 1 770 F3 120 F1.
—H&FH 7 %ggg 1ERI A=Y
T B 770 M ;gg E----%Fﬁé’.f:u
|EE JKH 8,800 H
g 4,100 M 107 —JL %7y
+ 2[E1H AKE 10,000 A REOTFHEIERFHETOER
2 K =1+ DIE B T,
= 4,600 M SAHEEL LT AL ]
T 3mE 7K B 10,800
L& 6,700 M
TR 1,880 M %888 E%—----1E%F'aﬁé’lf:U(XlJU?Ab\%%iA)
25 3,000 9 [--—3000.E
a2 8NA 10,770 H 15888 E EWEER IS CET N




